1,000

3,000 3,000 3,000 3,000 3,000 3,000 3,000

1,000
600 400

1,000
400 600

I
3,000 3,000 3,000
|

5 ©

0
©
®
o

1,000

|
i
|
i
|
\
|
-
|

6,000

9,690

16, 000

6,000

|
/ (128 ) ;o%ﬁ
R h—A MRANVEEEL=1.0

|

|

|

|

7

|

|

7

| o
| |
7

7

|

I

7

7

|

7

7

9,690

6,000

SIELLEKL

|
|
|
|
|
|
T
\

FHRYIFLY IA—LEEYL=4.0 R
BE 0 YO LSRR VR B % £20. 35 R

16,000

SKIKLLELL

1
1
1
1
1
|
T
1
1
1
1
1
1
1
1
1
1
|
1
1
:
]
- - I, - -
|
|
1
1
1
:
1
i~ - -
1
1
1
1
1
|
i
]
I, - - 4
1
1
1
|
i
1
:
1
AAAJI, -
1
1
1
1
1
1
i
1
- - - - - - - J
1
6,000

6,310

4,000

- v 11 _BXXq | | | R S .o.o-o. N SN S S 2 ‘\J’\‘ - \‘\ﬁ\ P

4,000

1,000

1,000

3,000 3,000 3,000 3,000

3,000 3,000 3,000 3,000 3,000 7 3,000

30,000

o
cs
cuE
cluE
@
©
&
&

—HBEELEBEHR ¥E-1902% %2 [B i |8 % ® R TEgf  TROEE BE- RENENRLEFEHANEEE RREEHE)

= = - 1,100 E= EIFFEHET
MBE—®EERHEBEMR s R

BERNMHHAPKAEE1059-11 0984-23-7077 —BEELE145077%  H@B BZ H304%9A8H




